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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
-1 Wi 2o Teq e ¢
a)  What do you mean by 'entailment'?
‘Pfe-Ta% T@Tce [ @l
b)  Distinguish between validity and truth.
(Aol € Forela WK AL (1S |

c¢) Reduce the following sentences to their Logical
forms and show which terms are distributed and

which are undistributed:

e IRl JeReTTse I TSRS FE
G (AN (I AW 1ol G (I AW S0 8
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d)

g)

h)
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I)  Grapes are sour (Mg 1 5F) |
I) Tigers live in forest (19 ¢ ACF) |
What is 'material obversion'?

ECRICACCICDEA L]

If "No Scientist are philosophers" is true, what
is the truth value of " All non-philosophers are

not non-scientist".

“ @I R vfes T2 ey 7@ A1 e

-l 7" A563 Aoy % 2?2

IfA, B=T and P=unknown, then what is the truth
value of (P> A)D (A D~ B).

W A, B= 379 2 9% P -9 FO5eT) S&iiell 27 O
(P2 A)D (A D~ B) 93 TRl (MA1S |

Express the following by Venn Diagram.
coaibea ofge 71 ¢

No S are non-P.

Give an example of 'Fallacy of Illicit Minor'.
LAY 27 (T GO TSI Wie |

Translate the following categorical propositions
into standard form:

o

IS IS SR RS e F v wolieie
92
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i)

k)

)
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I)  Sometimes all our efforts fail.

(I CRICTI ST SN0 et A T & |
I)  She never drives her car to work.

GG F¥ee M1 BIeTRl w1 4 (31 Flee A |
What is Pure Hypothetical syllogism?

s QFlEE TR FIE A2

What is truth functional proposition?
HOJICAFF ool PICF AT 2

If P is false, what will be truth value of
(Pv~P) v r?

T P e 27, oizeet (Pv~P) v r @g Mepfe T
2(J?

What do you mean by self-contradictory
statement form?

Fo2 ] TP T@lce [ (e 2

Symbolise the following:

SRS T4 ¢

If either Socrates was happily, married or else

he wasn't, then Socrates was a great philosopher.

T A oA [ifEe G A2 27 912l 7 7, O
G0 e W2 wifes e |
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2. Answer any four questions: 5x4=20

@-CFI o1 & Ted e ¢

a)

b)
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Use truth-table to test the validity of the
following arguments: 25423
TP safed AR Fare Ye sl @ael /e
Pq 2

1) OvP O/ ~P

ii) (AvB)>(AB),AB /.. AvB

Use Venn Diagram to express the following

sentences: 22+23

i 7o B (eaibiad ML oFH 39 8

1)  All students except some are intelligent.

FEFC TG FT! S A3 e |

11)  Nothing is both round and square.

(FICT g F519IR CANCTIPIS 8 DQIORI T |

Discuss about the existential import of
categorical proposition in the Light of
traditional interpretation and also modern

Boolean interpretation. 5

BEEMCEICRGEIS R R R S DRSS
QIR FAN ST TR A5 41 |




d) Explain, in detail Aristotelian square of

opposition of proposition. 5
SifBoey Ry TorEeR el e 34|
e) What is meant by 'Fallacy of denying the

antecedent' and 'Fallacy of affirming the

consequent'? Explain them giving one example
of each. 2 % +2 %
‘S5l TRIFe-GfTe (R @ TRl FFo-Giefe (X
0S5 (@R 2 &fols (R 7RI i < |

f)  Determine the truth value of the following

proposition forms by the truth-table method.

25425
TP simfoq AR Hffie wawmefm
RISIPG! g e
i) p=[pv(e~q)]
ii) p>[(p>p)>~p]
3.  Answer any two questions: 10x2=20

@i g6 eoas Tew mie ¢

a) Use the method of Venn-diagram to test the

validity of the following argument:

1 1 1 1
21422422427
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b)
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Conibras AR [Fesie Yfewfrs taxel ol ¢

i) EAO-1

i) OAA-IV

111) None but the religious person are really
to be envied. All truly wise men are

religious person; therefore, all truly wise

men are to be envied.

4ifs(e Tfe e 6 e F3f sffa 23 =1 |
I &Fe @Al TG 27 4iffF; Todd 71 eFe
il e = %44 SAig |

1v)  No Republicans are Democrats; So some
Democrats are wealthy men, since some

wealthy men are not Republicans.

(P SSTORIIR sleroa) =13 ; ok f[Fg slroa
1, 19 g 4 eereg) 7 |
Translate the following arguments into standard
forms syllogism and test the validity of them. If
any argument is invalid, name the fallacy.

1 1 1 1
2242422427

Fefaiie gfeekie sFfmrrre sisiE aax 1
ORI SNASerR ([el [o 39, A0 @4 e
(Y T, OIE O (WIS IS T 9 ¢

1)  All suns are self-luminous. Some steller

[6]
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bodies are not self-luminous, therefore,

some steller bodies are not suns.

el I R FeeEee | g AEas e
FOLHI(AITS ;5 (FICT (I I oo
T |

11)  No misers are unselfish. None but misers

save egg-shells; therefore, no unselfish

people save egg-shells.

(I Folel e T SR | Folel reTe B
¢ TR (A ALY I ; e (&
SR i TEa (AT H2ed 0 7 |

111)  Why according to modern interpretation
FELAPTON is not a valid mood?

wiyf% Oy SRPIE FELAPTON G 3 w1
(e ?

iv)  OAO-Second figure.
@t gH—O0AO

Use truth table to verify whether the following
propositional forms are tautology, self

contradictory or contingent. 5+5

TEPTFA FRT FE @S @, Ao dwaiera
@I Ty, TR 1l wiolfes |

i) [p>(qop)]2[(@a>q)>~(r>1)]
[7] [Turn Over]

d)
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i) [(pop)-(a2p)]=[(p.q)v(~p.~q)]

What is analogical argument? Why it is called
inductive? Can analogical argument be valid like
deductive argument? Explain.

TA-gfe 2 @2 IFG0 SRR I 27 (e 2 ol
& ¢ SRR e 0l @4 209 S 2 1 F91|
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